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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2018 

(APPLICATION ORIENTED COURSE) 

AMK-001 : MARKETING 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : 	Attempt both Part-A and Part-B. 

PART - A 

	

1. 	Distinguish between any two of the following : 5+5 
(a) Product line and product mix 

(b) Marketing mix and promotion mix 

(c) Resale price maintenance and price 
descrimination 

(d) Selective distribution policy and exclusive 
distribution policy 

	

2. 	Write short notes on any two of the following : 5+5 
(a) Communication process 

(b) Reasons for the failure of new products 

(c) Break-even analysis for target profit pricing 

(d) Consumer buying process 
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PART - B 
Attempt any three of the following questions : 

3. What is product life cycle ? 	Explain 2+8 
how-marketing mix changes during the different 
stages of product life cyde. 

4. Explain various types of discounts and allowances 10 
given by the marketers to buyers. 

5. What role do intermediaries play in the 5+5 
distribution of goods ? Can intermediaries be 
eliminated ? Explain. 

6. "No single medium of advertising is ideal in all 10 
respects." Comment. 

7. You are the marketing manager of a company 10 
producing washing machines and refrigerators 
While developing marketing strategies for your 
products, which environmental factors you will 
take into account. Explain with examples. 
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